G. B. Shah Commerce College

Assignment
B. Com. Semester: 111
Subject: Cost Accounting- 1

Que-1 (A) Explain the advantages and limitations of cost accounting
(B) From the following information, calculate:
(a) Re- order Stock level
(b) Minimum Stock level
(¢) Maximum Stock level

(d) Average Stock level

(e) Danger Stock level
1. Maximum delivery period 45 days
2. Average delivery period 35 days
3. Minimum delivery period 25 days
4. Maximum delivery period for emergency purchase 5 days
5. Maximum rate of consumption per day 30 units
6. Average rate of consumption per day 25 units
7. Minimum rate of consumption per day 20 units
8. Ordering Quantity 600 units

Que-2 (A) Give the difference between Direct Wages and Indirect Wages?
(B) In a factory wages are paid as per Halsey Plan. The following information is
available for the work of a worker:
1. Time saved 25 hours.
Bonus to workers is 10% of time wages.
Materials used per unit Rs.350.
Factory overhead are 20% of prime cost.
Factory cost per unit is Rs.1212.
Find out the time allowed to complete the work.
Que-3 (A) Write a short note on Over-absorption and under-absorption of overheads.
(B) In a company there are three production department H, N and G and two service
departments A and B. The details of expenses during March, 2024 are as under:

Sk w0

Rs.

Rent and Rates 10,000

General Lighting 1,200

Indirect Wages 3,000

Power 3,000

Depreciation on machines 20,000

Sundries 20,000

(1) Other Information:
Particulars H N G A B

Floor space used(sq.met) 2,000 2,500 3,000 2,000 500
Lighting points (Nos.) 20 30 40 20 10
Direct Wages (Rs) 6,000 4,000 6,000 3,000 1,000
Horse power of machine 120 60 100 20 -
Cost of machine (Rs) 24,000 32,000 40,000 2,000 2,000




| Production hours | 4670 | 3,020 | 3,050 | - | -

(2) Service department expenses allocation:

Particulars H N G A B
Service Dept. A 20% 30% 40% - 10%
Service Dept. B 40% 20% 30% 10% -

You are required to prepare (1) A statement showing distribution of overhead
expenses and (2) A statement showing allocation of expenses of service
department to production department
Que-4 (A) What is tender and how is tender price determined?
(B) Costing department of L&T Company Ltd. Gives you following information. Prepare
a cost sheet.
Material cost will be 24,000
Direct wages will be 16,000
Works overheads will be 50% of direct wages.
Unsold stock of finished goods will be 10% of factory cost.
Selling and Distribution overheads will be the same of wages cost
Sales Price 80,000
Profit will be 10% of sales price
Office overhead expenses will be 16% of sales price.
Que-5 (1) which one of the following is not a Costing Method?

(a) Marginal Costing (b) Job Costing
(c) Batch Costing (d) Contract Costing
(2) Which one of the following is a Product Cost?
(a) Indirect Materials (b) Administrative Staff Salary

(c) Salesman’s Commission (d) Interest on Bank Loan
(3) Out of the following which wage system is not treated as an Individual incentive
wage system?

(a) Bedeaux plan (b) Taylor’s different wage system

(c) Merrick’s multiple rate system  (d) Co-partnership
(4) Basis of overheads apportionment for plant repairing is?

(a) Space Occupied (b) Value of Plant

(c) Plant Hours (d) Depreciation on Plant
(5) Cost of sales is Rs 1,80,000, amount of profit is Rs. 20,000, state the percentage of
profit on sales ?

(a) 11% (b) 10%

(c) 12% (d) 9%
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G. B. SHAH COMMERCE COLLEGE
ASSIGNMENT

B. Com. SEM - 3 (English Medium)

SUB: - CORPORATE ACCOUNTING

Q-1 The balance sheet of Asha Bros. As at 31-03-20224 was as follows:

Balance Sheet

Liabilities Assets
Rs. Rs.
Asha’s Capital 1,00,000 | Goodwills 50,000
Manisha’s Capital 1,00,000 | Land and Building 1,00,000
General reserve 1,00,000 | Furniture 50,000
Creditors 1,00,000 | Stock 20,000
Debtors 1,50,000
Bank balance 30,000
4,00,000 4,00,000

On the date of the above balance sheet the business of Asha Bros. was taken over by Sada
Bahar Ltd. On the following conditions:

(1) Recovery of the debtors and payment of creditors of the firm is to be done by the
company as agent of the firm.

(2) The fixed assets of the firm are to be valued more by 20%

(3) The goodwill of the firm is to be valued at Rs.70,000.

(4) The company is to issue its equity shares of Rs.10 each at a premium of 25% as
consideration of the business purchase.

(5) Amount recovered from the firms debtor was Rs. 80,000 after allowing discount of
5%.
Some creditors of the firm were paid Rs. 76,000 after charging 5% discount from
them.
Draft journal entries in the books of the company to give effect to the above
transactions and prepare the opening balance sheet of the company.

Q-2 The Balance Sheet of Janvi Ltd. As on 31-03-2019 is as follows:

Particulars Notes | Rs.

1.EQUITY AND LIABILITIES
(1) Shareholders funds:
(a) share capital:

Equity shares of Rs.10 each 7,00,000
10% Red. Pref. shares of Rs.100 each 2,00,000
(b) Reserves & surplus : profit & Loss A/c (Dr.) (2,10,000)

(2) Non- current Liabilities:
(a) Long Term Borrowings:
15% Debentures

2,00,000




(3) current liabilities:
(a) Trade payables: 75,000
Creditors 12,500
Bills payables
(b) Other current Liabilities: 22,500
Outstanding Interest on Debentures 50’ 000
(c)short Term provisions: Taxation Provision S
Total w
2. ASSETS :
(1) Non-current Assets:
(a) Fixed Assets :
(1) Tangible Assets: 4,00,000
Land & building 1,30,000
Mach}nery . 70,000
(2)Intangible Assets: Goodwill 40.000
(b)Non-current investments ’
(c)other Non-current assets:
Preliminary Expenses 35,000
(2) Current Assets:
(a) Inventories : Stock 1,95,000
(b) Trade Receivables: Debtors 60,000
(¢) Cash and Each Equivalents : Cash balance 1,20,000
10,50,000
Total

Contingent Liability : Claim against the company Rs. 60,000.
The following scheme of capital redemption was approved:

(1) preference shares to be reduced upto Rs.80 per share.

(2) Equity shares to be reduced by Rs. 6 per share.

(3) The debenture holders agreed to forego 50% of their outstanding interest and
remaining interest amount was paid.

(4) Debenture holders agreed to accept a piece of land worth Rs. 1,50,000 at Rs.2,00,000
as full payment.

(5) The remaining land and building were valued at Rs. 2,51,750.

(6) Reconstruction expenses amounted to Rs.25,000.

(7) Rs.47,000 were realized for investments.

(8) It was decided that company had to pay the pending claim.

(9) Intangible and fictitious assets are to be written off.

(10)The remaining amount is to be utilized in writing down machinery and stock in
proportion of their book values.

Write journal entries in the book of the company.

Q-3 From the following balance of ADC Bank Ltd. As on 31-03-19, prepare profit & Loss
A/c (Form B ) and schedule 13 to 16:

Particulars Rs

Share capital 30,00,000




Salary and allowances 10,000
Interest on Loan 4,00,000
Commission and Exchange 15,000
Rent and Taxes 7,000
Audit fees 10,000
Interest on Overdraft 1,880,000
Interest on Cash Credit 1,50,000
Interest on Savings Accounts 70,000
Interest on Current Accounts 70,000
Rebate on Bills discounted (01-04-18) 5,000
Credit balance of Profit & Loss A/c (01-04-18) 1,50,000
Miscellaneous incomes 12,000
Rent of safe deposit vault 26,200
Printing & stationery 8,400
Profit on sale of investments 24,800
Law charges 15,000
Director’s fees 28,700
Depreciation on assets 10,800
Discount received on Bills 22,500
Insurance Premium 17,600
Administrative Expenses 18,500
Interest on fixed Deposits 21,500

Additional Informations :

(1) Balance of Rebate on bills discounted as on 31-03-19 is Rs.7,000.

(2) Transfer Rs. 8,000 to Bad debts reserve and make provision for taxation of Rs.

40,000.
(3) Proposed dividend is 10%.
(4) Keep statutory Reserve as per law.

Q-4 From the following information of Eklavya Ltd. prepare the Liquidator’s Final

Statement of Receipts & Payments :

Particulars Rs.
Cash on hand 78,000
6,000 Preference Shares each of Rs. 100 fully paid 6,00,000
24,000 ‘A’ Equity Shares each of Rs. 10 fully paid 2,40,000
6,000 ‘B’ Equity Shares each of Rs. 10 fully paid up Rs. 6.50 39,000
60,000 ‘C’ Equity Shares each of Rs. 10 fully paid up Rs. 5 3,00,000
1,20,000 ‘D’ Equity Shares each of Rs. 10 fully paid up 3,60,000

Total Creditors (including Preferential Creditors Rs. 7,200)




Liquidator’s remuneration @ 10% of realization value of the assets.

(except cash) 78,000

Q-5 MCQ

(1) On which basis audit fees can be distributed ?
(a) Sales Ratio
(b) Post-Incorporation
(c) Pre-Incorporation
(d) Time Ratio
(2) Profit of Pre-incorporation period is called
(a) Capital Income
(b) Revenue Income
(c) Capital profit
(d) Revenue Profit
(3) When purchase consideration is less than net assets, the amount of difference should
be considered as
(a) Capital Reserve
(b) Goodwill
(c) Liabilities
(d) Debt
(4) Credit balance of Capital Reduction Account is transferred to
(a) Capital Reserve A/c
(b) General Reserve A/c
(c) Goodwill A/c
(d) Profit and Loss A/c
(5) After implementing the scheme of internal capital reduction, the company is
(a) Continued
(b) Dissolved
(c) Purchased by other company
(d) Merged to another company
(6) Interest suspense Account in the books of a bank shows  balance.
(a) Debit or Credit
(b) Debit
(c) Credit
(d) Negative
(7) The expenses of special audit suggested by Reserve Bank in Public Interest
Will be borne By
(a) Reserve Bank of India
(b) Banking company itself
(c) Government of India
(d) Central Bank of India
(8) Which of the Following amount is not included in preferential Creditors ?
(a) Provident Fund
(b) Taxes of Government



(c) Bills payable
(d)Bills receivable

(9) A liquidator can not keep the sum received on behalf of the company more than Rs.
5,000 for than

(a) 100 days
(b) 10 days
(c) 5 days
(d) 30 days

(10) when a liquidator should prepare final statement of receipts and payments ?

(a) Every year

(b) Every three year

(c) on completion of liquidation
(d) Every two years.
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G. B. Shah Commerce College
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Sub.: Taxation-1

Q1. Theory Questions:
1. What is a Permanent Account Number and where is it necessary to mention the same?
2. Settlement Commission

Q2. From the following determine the residential status for Ms. Manu Bhakar who is a foreign citizen for

PY 2023-24 with reference to different residential statuses

FY. No. Of Days stayed in India
2019-20. 230

2020-21. 155

2021-22. 365

2022-23. -

2023-24. 65

Q3. Mr.P R Shreejesh serves as an assistant coach in Reliance Hockey Federation. Calculate his taxable
rent-free perquisites for PY 2023-24
Basic salary- Rs. 12,96,000

Bonus- Rs. 72,000
DA- Rs. 1,44,000
Education allowance for hostel expenses and educational expenses for 2 children- Rs. 46,800

The employee was given a rent-free accommodation owned by the Federation in Delhi whose annual

fair rentis Rs 2,16,000.

Q4. Determine the Net annual value for each house owned by Mr. Neeraj Chopra in Haryana for AY
2024-25

Particulars Antilla Mannat Jalsa
Municipal value 27,000 19,500 27,000
Fair rent 32,500 24,000 36,000

Standard rent 29,750 21,000 30,000




Actual rent 37500 18,000 26,000

receivable

Vacant period in 1 2 1
months

Rent received for | 30,000 12,000 27,500

remaining period

Q5. Multiple Choice Questions:

1. Which of the following is treated as direct tax?
Service tax

Excise duty

Income tax

oS o w »

Custom duty
2. Which of the following statements is not correct?
A. Any receipt by a member from HUF is considered fully exempted
B. Casual income received by an assessee is fully taxable
C. In case of a partner his share of the profit from the firm is fully taxable
D. Scholarship received by a student for his education is fully exempted
3. What is the maximum amount of compensation received on voluntary retirement exempted?
Rs. 5,00,000
Rs. 3,50,000
Rs. 3,00,000
Rs. 2,40,000

oS 0o w >

4, Which of the following is identified as an artificial juridical person?
Jayanti Ravi
Experimental High School

Ms. Ramesh & sons

oS o w >

None of the above

5. Which of the following income from house property is exempted from tax?
Income from any 1 palace of an ex ruler

Income from a farm building

Income derived from a house property of a local authority

All of the above
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G. B. Shah Commerce College
Assignment
B. Com. Sem - 3

Subject: Managerial Economics

For English Medium

Q:1 Explain the meaning of Managerial economics. Discuss the scope of Managerial
economics in economics theory.

Q:2 Discuss the concept of Risk and Uncertainty.
Q:3 Clarify the concept of Price elasticity and it's types in details.

Q:4 Explain the relationship between Average and Marginal cost.

For Gujarati Medium

W1 dula(sy welaliaell wel yuesd). weRliEeti RigidHi dutalsy elelieeil
wdsielefl Ul 5.

UsL:2 M e WA (Rdddlell valgsfl Ul 52
ust:3 (SHdell yRuumetdl [detidetl 1a dsil sl (@ad qHedl.

U4 U WA HHid WA qAed) Aoid Yuod).



G. B. SHAH COMMERCE COLLEGE
Assignment
B. Com. Semester — 3

Sub: English & Communication

Q.1(A) Answer the following questions in brief:

D
2)

3)

4)

S)

6)

7)

Who was Subroto Bagchi’s role model for success?

What was Subroto Bagchi’s first lesson on success? Who did he learn it
from?

How did Subroto Bagchi’s mother inspire him with her vision despite her
blindness?

What examples does Swami Vivekananda provide to illustrate the religious
diversity and acceptance in his nation?

What does Swami Vivekananda consider as the destructive forces that have
hindered human Society’s advancement?

What is the significance of the Constitution in Dr. B. R. Ambedkar’s
speech?

What according to Dr. Ambedkar, are the three things we must do to

maintain democracy?

(B) Write short notes on the following:

Y
2)
3)

Subroto Bagchi’s concept of success.
Swami Vivekananda’s messages on religious tolerance

Dr. Ambedkar’s views on maintaining democracy

Q.2. Briefly discuss any TWO of the following:

)
2)
3)

Unique features of Indian English
English as the Language of Global Communication

Introduction and Definitions of Communication



Q.3. Select the correct option from the given options:

1)

Why did the author in “Go Kiss the World” not go to school until the
age of eight?

The family moved frequently
The school was very far away
There was no primary school nearby

The author was home schooled

What was the occasion of Swami Vivekananda’s Speech?
World’s parliament of Religions

Indian Independence Day

United Nations General Assembly

International peace conference

Swami Vivekananda expressed gratitude on behalf of:
Hindu People Only

Indian monks

All religions and nations

Western delegates

What was the main purpose of Dr B R Ambedkar’s speech?
To promote social justice

To discuss economic democracy

To explain the significance of reservations

To advocate for political democracy
Dr. Ambedkar believed that political democracy without social

democracy leads to:

equality
social justice
dictatorship

freedom



10)

According to Dr. Ambedkar, what is the true test of a democracy?
Economic Prosperity

Social harmony

Political Stability

Equal Opportunities

From the following, which is not a Fundamental feature of language?
Productivity

Simplicity

Creativity

Displacement

Which of the following language exists as the language for global
communication?

English

French

Gujarati

Hindi

Which of the following is not a Feature of Communication?
Message

Channel

Education

Feedback

Which of the following are prerequisites of communication?
Understanding the receiver

Creating a message accordingly

Choosing the right medium

All of the above
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G. B. Shah Commerce College
Assignment
B. Com. Semester-3

Sub.: Indic Knowledge System (IKS)

Que-1 Explain Dharma, Sanatan, Moksha and Karma in the context of Indian
Knowledge System?
Us-1 GRAY Stist URlElell AeeiHi gH, Ueildst, Hlel wA sH yHMdL?

Que-2 Which are the methods to study Shashtra? Give the overview of Shastrartha
Parampara?

USL-2 2Bl WeAIY Slell sUL GUIRI 87 2Bl UUel) UIR wIU)?

Que-3 Explain the contribution of IKS in Astronomy, Agriculture Technologies
and Forest Management?

URL-3 VIO, SN dsells] Wl dsl cddelUat] MiRdlY Silst uLelefl eyfst
Y1) ?

Que-4 Discuss the Types, Process, Famous literature, Famous Art & Artists of
Performing Arts and Fine Arts?

UBl-4 UeRlol 56l W §18el W12 ol USR, Uggldudl, URle, Alle M Ule 54l

Wl $EIS1R ol YU S,



Q-1.

(A)
(B)
©)

Q-2.

(A)
(B)
©

Q-3.
@

(a)
(b)
(c)
(d)

2)

(a)
(b)
(c)
(d)

3

(a)
(b)
(©)
(d)

G. B. SHAH COMMERCE COLLEGE
ASSIGNMENT
B. Com Semester — 3
Sub: Common Employability Skills

(For ENGLISH MEDIUM)
Briefly discuss any ONE of the following:
Personal Skills
Behavioural Skills
Professional Skills
Briefly discuss any ONE of the following:
Teamwork Skills
Customer Service Skills

Problem Solving Skills
Select the correct option from the given options:
Self-Management skills help us in preventing:

Psychological disorders
Behavioural disorders
Anxiety disorders

All of the above

Which of the following is not an employability skill?

Team building skills
Managerial skills
Decision making skills
Problem creating skills

The science of studying human behaviour is:

Sociology
Psychology
Philosophy

None of the above



(4) Which of the following is not an important issue relating to goal-
setting theory for employability?

(a) Goal specificity

(b) Equity among workers
(c) Feedback

(d) Defining the goal

(5) With economic development, there has been an increase in:

(a) Water Pollution
(b) Air Pollution

(¢) Noise Pollution
(d) All of the above

(6) Which social media platform is best suited for professional

networking and job searches?

(a) Facebook

(b) Instagram

(c) LinkedIn

(d) Tik Tok

(7) Whatis a common challenge during the execution phase of an action

plan?

(a) Lack ofideas

(b) Resistance to change
(c) Too much enthusiasm
(d) Excessive resources

(8) Which type of mobile app is designed to manage tasks and
schedules?

(a) Gaming Apps

(b) Productivity apps
(c) Entertainment apps
(d) Social media apps



€))

(a)
(b)
(c)
(d)

(10)

How does reducing waste benefit the environment?

By conserving natural resources
By increasing landfill space

By producing more waste

By making product more expensive

What is one-way individuals can contribute to sustainable

development?

(a)
(b)
(c)
(d)

Using renewable energy sources

Increasing consumption of non-renewable resources
Ignoring environmental regulations

Promoting single use plastics
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G. B. SHAH COMMERCE COLLEGE
ASSIGNMENT
B. Com Semester — 3
Sub: Common Employability Skills

(For GUJARATI MEDIUM)
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